THAFEIBEERARBREERESRIEERS

SETE (F2EEEREAYRGE)

(£%8:A)

Z5HE | 2,356,154,634]
Effi
BIEAXEEHEER 140 % 640,000 A = 89,600,000
F—AIUN)—ERE 1,800 x 1140000 X = 2,052,000,000
EREH 120 X 1140000 A = 136,800,000
EFRE #REASRHE 20 x 1,140,000 3¢ = 22,800,000
BEREFLIRTFLARUBEEELATLER 5,966,234 % 1% = 5,966,234 ~ SEEM -
MSHEER SIEHER ' 48,988,400 X 15 = 48988400 - S ELEEN
: 5t 2.356,154,634 ‘
PRigEE | 742,829,000} )
: i ,
PRIFREERE 4,000 x 167,000 A = 668,000,000
BrEEm 120 % 167000 A = 20,040,000
BREREEN 120 X . 167,000 A = 20,040,000
—RBEF—LRERE 5100 X 5x5 X 270 = 34425000"
—RFEIE . 800 X. 2 x 270 = 324,000
gt - 742,829,000 7
P | 7,952,540]
, R Eiff
EHRFEHSEREE T 4,762 x 1870 X 7,952,540 *
® = 0
© B 7952540 s
rEzET | 795,263,200} -
RETESRE (BEXBEOERNR) 5200 x 112000 A = 582,400,000
" (hR-REER) C 4800 x 11,521 A = . 55300,800
" UNR-bgpE~) 7,200 x 16,419 A = - 118,216,800
' REDEEL 120 x 187,040 A = 22,552,800
PERREBEA : 120 x 139,940 A = 16,792,800
5t 795,263,200
conomm: | 122,665,700] S EEHM
|emmmemrame B , : : "
EEXEE XETHE - 17,000 x 5 Ex 25 A = 2125000 "
XEBENRE 19,750 x 5 B x g8A = '790,000 "
XEERE(R 34,150 x 2 [@x 8 A = 546,400 "
XEEIRE(28) 48,550 x 3 @ x 14 A = 2039100 "
HEEEF BEER) _ 97 x 183500 4% = 17,799,500 "
T BERGEFED 99 x 11,500 % = 1,138,500 "
REE(FEIQ) 99 X 12000 8 = 1,188,000 AL
ARE(FEXQ) 110 x 7000 8 = 770,000 "
El] : 20 % 428000 # = 8,560,000 "
1o TLyk ‘ 84 x 214000 4 = 1,797,600 "
i , 120 x 214000 # = 25,680,000 "
B ‘ 135 x 110000 #£ = 14,850,000 "
HA-#HiE . 23 x 214,000 4 = 4,922,000 "
F—AIUM—(—f) 360 x ' '80,000 #£ = 32,400,000 Ju
F—BTUM)—(FELD) 1220 x 8000 ¥ = 1,760,000 o
F—BIUM—(FELD) 218. x 8000 # = 1,744,000 n
F—BIUM—(FELD) 240 x 4000 4 = 960,000

o




EXERBE(F02)

3400 % =

"I

5,185,480 -/
———

coammEss80 FIR] 17 % " 57,800 SEEM
E£EFERXE HE 20 x 3400 2 = 68,000 "
IAVAZIVATTS 37 x 34008 = 125,800 "
Bk 120 x 3400 | = 408,000 "
HA 10 x 3400 8 = 34,000 "
JCCAXRE  XEHR 31 x 20000 ¥ = 62,000 "
ESE] 10 x 20,000 ¥ = 200,000 "
NIk 10 X 20,000 2 = 200,000 "
Fix 80 X 20,000 ¥ = 1,600,000 "
= (NHF) 65 x 8,000 ¥ = 520,000 7
HA-H 10 x 20,000 1 = 200,000 "
SREFAES NEHZ 80 x 5 @x 300 = 120,000 "
5 122,665,700 SEE
SEEBIZRT 3 13,181,400} S EBM
& Biff "
REZWFE REZDR 132 x 16,000 8 = 2,112,000 "
HE ' 46 x 16000 ¥ = 736,000 - "
HEEn 140 % 16,000 #¢ - = 2,240,000 "
HEESHR _ 155 x 11,200 % = 1,736,000 "
F—EIM)—(FR) 250 X 11,200 % = 2,800,000 "
F—HIN)—(EIE) 125 x 3000 ¥ = 375,000 "
HA-Hig . 61 X 16,000 4t = 976,000, "
YR—rTv 35 x 16,000 #% = 560,000 "
BB FOR 22 x 11,200 # = 246,400 "
#HiE 20 x 112004 = 224,000 "
g .80 x 11,200 4 = -1,008,000 "
HA-HE 15 % 1120048 = 168,000 "

] & 13181:400 * £ EEm
ErEgEg) 5,185,480} SEEM
T B2} 7

BB ROy LBERE 1,805,000 1% = 1805000 "
EERET ENBB(RR~ES) 9,800 X 2 x 2 Fl= 39,200 "
2&3tE3H— BARARBGEH~ES) 20,520 X 2 x 2G%E= 82,080 "
EE EEBE (71— ~1E8) 260,000 X 2 x 2= 1,040,000 "

maE 11,800 x 6 x 28 = 141,600 "

A 2,600 X 6 X 3 = 46,800 "

i RIER— LS —U BRI 5,000 x 100 = 500,000 "
EE ST ERemER—t—>~Tat-T) 700,000 x 2hN = 1,400,000 "
ERBHEE~ER) 9,800 x 2 x 2A = 39,200 |

bpi=E=1 ) 11,800 x 3 x 2A = 70,800 "

B 2,600 X 4 x 2A = 20,800 "

B S EBM

,

/’“\‘

\_{ )




EEBERE(ZD3)

ez | 611,979,434 .
=Riii}
B (r4—E) © 12,121,212 % 1 x 10 = 12121212
EER (2251) 9,523,810 X 6 x 1.0 = 57,142,860
E&h (FEEE) 2,077,822 X 1 x 1.0 = 2,077,922
Ef (22K 2,597,402 X 5 x 1.0 = 12,987,010
SE 9,523810 x 1 % 1.0 = 9,523,810
AT 4R (T Rsi—) 6,926,407 X 19 X 1.0 = 131,601,733
AAFAHIL(EHE) 1,731,602 x 3 x 10 = 5,194,806
EBEE 6,926,407 X 40 x 1.0 = 277,056,280
BEF S (BE () - axF4hib (Fan—) - EEBED10%)
' 465,800,873 X 01 x 10 = 46580087
TXBLLBEREMICOVTHHEHAICEVATIEEEEELT
: 4,329,004 x 13.3272489 X 1.0 = 57,693,714
£ 611,979,434 »
i3 | 1,330,000} .
(EREEZBEETHLENRQ. i
BeoHe 19,750 x 2 x 2 = 79,000
HE(ER BES) LORER 19,750 X 2 x 30 = 1,185,000
HEREDRR (BATETRES) 600 x 2 x 30 = 36,000
"o (R 2BETRERD 600 x 2 % 12 = 14,400
" B R B ER) 2,600 % 2 x 3 = 15,600
0 x 0 = 0
N i 1,330,000 *
. |ERIRAE 13,237,600] o
(EREREETHLNRO B==ii] B .
PRIBBRERU HE (A2) 20 x 661,880 4% = 13,237,600 °
RESEENRE x a =
R 5 13,237,600
BEERE | 24,087,624
(EEE=RBFETHLESRQO E{f B
B ' 54,642 x 12Bx - 268 = 17048304
. EEEEGESE 1295 x 128x  8& = 124,320
| ERpERELS-LOTIER 645,200 x 10 A = 6452000 SEEE-
SRRELF—RurI - BRERH 41,100 x 10 B = 411,000 "
BFRyrT—ERERY 5200 X 10 B = 52,000 - 1
H 24,087,624 =
gty | 20,497,850
: i Ef E% -
AREY—R ' 66,000 X 12 B x 5& = 3960000
- BRETE LEER (18, 25) 1,300,000 X 10 B = 13,000,000 SEEE -
FRETELEEH (8E) 330,000 x 9 B = '2,970,000 "
g (ARE) 17,000 x 10 B x 28 = 340,000 |
- HES(ARE) 17,850 x 18 = 17,850
BEIE(AREER) 21,000 x 10 B = 210,000 SELEE
‘ 5t 20497.850 '
EHRBH | 4,714,364,462|
—REEE 471,436,446‘ EEB x10%LHR
H 5,185,800,908
;gﬁfggg 250,290,045 |5 x 5%
&f 5,445,080,953 '




